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(1) TR B SE AR AT

7 EEH (HAZ : M,/ nf) e (HAZ : M,/ nd)
JEps]  TiET4 R L5 Ak JEps]  TET4 R S iR

1 FIRAT 6 {119,700 ( 118,200 ) 1 T 37 | 287,700 ( 280,900 )
2 e T 84 (114,200 ( 114,400 ) 2 =& 6 | 189,500 ( 188,300 )
3 115 7K HT 5 [111,700 ( 111,800 ) 3 BT 12 | 162, 700 ( 164,500 )
4 =B 14 | 99,500 ( 99,400 ) 4 FIRAT 1 |134,000 ( 133,000 )
5 BT 30 | 87,700 ( 88,600 ) 5 AT 39 | 133,900 ( 132,000 )
6 HEEF T 10 | 74,900 ( 75,200 ) 6 HEEF T 1 {129,000 ( 129,000 )
7 PERATH 88 | 73,300 ( 72,800 ) 7 g 2 127,000 ( 122,500 )
8 | o oE 12 | 72,700 ( 73,900 ) 8 | G 3 | 124,000 ( 124,300 )
9 | MBS 12 | 65,900 ( 65,900 ) 9 R T 4 {120,700 ( 118,100 )
10 g 3| 62,300 ( 62,400 ) 10 | o oE 2 | 88,100 ( 89,400 )

= 39 | 62,300 ( 62,900 )

(2)  TET B AT ZS B R NELT

O Z#Eh=x (ELfr) T

7 R (HAL : %) e (HAL : %)
JEL | THHETA  [Mkiais NR ST ko JEL | THHETA  [Mkiais RSP E S

1 FIRAT 6 1.2 ( 0.8) 1 g 2 3.1 ( 1.4)
2 AN TH 87 0.1 ( 0.0) 2 REL T 4 1.8 ( 1.2)
3 | G 12 0.0 ( AO0.1) 3 B T 36 1.0 ( 1.3)
4 =B 14| A0.1( AO01) 4 AT 39 0.9 ( 0.8)
5 e T 10| A 0.2( AO0.2) 5 FIRAT 1 0.8 ( 0.8)
6 15 K HT 50 A 0.2( AO0.2) 6 =B 6 0.4 ( 0.2)
7 e Taaiil 6| A 0.2( AO0.5) 7 HEEP T 1 0.0 ( 0.0)
8 AT 20| A 0.5( A 0.5) 8 EHT 4| A0.1( AO0.1)
9 T 5| A 0.5( A 0.5) 9 | RS 3| A 0.3( AO0.5)
10 | /NLgET 6| A 0.6( AO07) 10 | 484w 2| A0.4( AO0.4)
©@ Z#h=x (FHr) T

7 R (HEAT : %) EE (EAT : %)
gz | THET4 | Mk Sy AR dEhER gz | THET4 | ket sk S AR dEhER
1 7 HHET 2| A3.1( A27) 1 | WzJET 2| A 3.4( A 3.6)
2 | HEtEHT 2| A 2.8( A 25) 2 CiEA1] 1| A2.7( A27)
3 | B E 4| A2.6( A3.1) 3 | EEfrERT 1| A27( A 26)
4 FH 5| A 25( A 25) 4 | AR 1| A22( A21)
5 {A] HERT 2| A 25( A 24) 5 | HOtEHT 1| A21( A20)
6 TH 3| A 1.8( AL17) 6 pedt 4] A 1.9( A 2.2)
7 pedt 17| A 1.7( A 21) 7 {A] HERT 1| A1.8( A19)
8 | mFEMT 2| A 1.7( A1.7) 8 T 2| A 1.8( A 1.6)
9 |FEOET 12| A 1.6( A 1.3) 9 7 HHET 1| A 1.5( AL17)
10 P e T 50 A 1.4( A 1.2) 10 | FEoET 2| A 1.5( A 1.3)
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